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Group-A

Answer any five of the following questions : 2x5=10
1. What is meant by Logic?
2. What is the relation between ‘truth’ and ‘validity’?

3. Transform the following propositions to their logical form :
(a) A few students are wise.

(b) Only peace loving people are socialist.
4. What is deductive argument?

5. What is meant by ‘Existential import’?
P.T.O.
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6. Define argument by analogy.
7.  What is induction by simple enumeration?
8.  What is scientific explanation?
Group-B
Answer any four of the following questions : 5x4=20
9. What is the difference between a proposition and a propositional form?
10. What is meant by the Fallacy of denying the antecedent? Explain with example.
11. What is a syllogism? State the general rules of syllogism for validity following copi.
2+3
12. Express the following in the Boolean notation and symbolize them by mean of Venn
Diagram :
(a) There are no poor doctors.
(b) Only non-s are non-p.
13. Explain the different senses in which the word ‘Cause’ is used in logic.
14. Write a short note on the method of Agreement.
Group-C
Answer any three of the following questions : 10x3=30
15. Explain the traditional and Boolean interpretation of the existential import of the
proposition A, E, I and O.
16. Use Venn Diagram to test the validity : 5+5
(a) No one present is uneducated. All members are present. Therefore, all members
are educated.
(b) No non-residents are citizen. All non-citizen are non-voter. Therefore, all voters
are resident.
17. Explain with the criteria for appraising an analogical argument.
18. Explain and examine, after Copi, Mill’s method of Difference.

P.T.O.
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19. Answer any two of the following : 5+5
(a) What is the probability of getting at least one head in three tosses of a coin?

(b) What is the probability of getting four cards of the same colour in successive
draws from a deck of card?

(c) What is the probability of getting at least 10 in rolling two dice ?
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Group-A
Answer any five of the following questions : 2x5=10

1. Give an example of non-truth functional statement.
2. Determine the validity of the following using truth table :

pql.~qg>D~p
3. Prove the invalidity of the following :

~(E.F)

(~E~F)/..G

4. What is singular proposition? Give example.
P.T.O.
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5. Distinguish between a statement and a statement form.
6. Use truth table to characterise the following statement form as tautology, self contradictory
or contingent :
[p>(pp)]
7. Express the following with dagger functions :
~ I:N (pva)v r]
8. Express the following with stroke functions :
~[~(pa).r]
Group-B
Answer any four of the following questions : 5x4=20
9. Prove the invalidity of the following :
(a) (3x)(Mx.Nx)
(Elx)(Mx.Ox)/ (x)(Ox ) Nx)
(b) FoR
Po>R/ .FDOP
10. If 4, B true and X, Y false then what are the truth values of the following statements:
(@~B v X
b v X)y.(Y v B
11.  What is material implication?
12.  What is truth function compound statement? Give an example.
13. Test the validity of the following argument using the method of resolution :
poq/..p>(g Vv r
14. State the rule of Existential Generalisation with suitable example.

P.T.O.
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Group-C

Answer any three of the following questions : 10x3=30

15.

16.

17.

18.
19.

Translate the following using quantifiers, individuals, variables etc. : 2x5
(a) Oranges are sweet if they are ripe.

(b) This flower is red.

(c) There are man eater.

(d) Nothing is both safe and exciting.

(e) No car is safe unless it has good break.

Construct formal proof of validity (any two) : 5%2
(a) Gold is valuable. Rings are ornaments. So gold rings are valuable ornaments.

(b) Hume was sceptic but Lock was not. Therefore everyone is either sceptic or not
sceptic.

(c) (3x)(BX.DX)

X) (DX > CX) /.. (Ix) (CX. BX)
(dZ>4
ZVA/ . A4

Define with the help of truth table different types of truth functional compound statement.
10

Explain paradoxes of material implication. How these can be resolved, explain. ~ 5+5

(a) Use truth table to characterise the following as tautology, self contradictory or
contingent: 5+5

(1) ~(pa)=(~pva)
@p>p
(b) Determine the validity of the following using truth table :

Av C
CoD/..A>D

P.T.O.
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Group-A
Answer any five of the following questions : 2x5=10
1. What is the difference between truth and belief ?
2. Analyse the meaning of the word ‘true’ in each of the following statement :
(i) He is a true friend.
(i1) The true way of solving this problem is ..............
3. Do you consider the following to be the occurent state, or dispositional, or both?
(1) He is angry.
(i1) The fruit is rotten.

P.T.O.
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4.  Which of the following propositions are analytic and which are synthetic?
(1) All swans are birds.
(i1) There is water in the sea.
5. Are the following logically possible?
(1) To go back to the Past.
(i1) To Jump 10,000 feet into the air.
6. What is Realism?
7. What is Phenomenalism?
8. What is substance?
Group-B
Answer any four of the following questions : 5x4=20
9. Are all ideas based on experience? Discuss. 5
10. What are the different meanings of ‘know’? When can it be said that ‘S knows that
P’? 2+3
11. Explain with illustration the different kinds of possibility and impossibility. 5
12. Is causal Principle a-posteriori? Discuss the question after Hospers. 5
13. Briefly explain the main tenets of Representative Realism. Do you think that
Representative Realism prepares the way of Idealism? 3+2
14. Explain the theory of universal that appears most satisfactory to you. 5
Group-C
Answer any three of the following questions : 10x3=30
15. Explain and examine the correspondence theory of turth. 10
16. Explain the distinction between strong and weak sense of ‘know’? Is there any
proposition that can be ‘known’ in the ‘strong’ sense? 7+3
17. Distinguish between a-Priori and a-Posteriori statements. Are there synthetic a-Priori
statements? Give examples if there are. 5+5
18. Explain and examine the doctrine of ‘Esse est Percipi’. 10
19.  What is the Problem of universal? Critically explain Artistotle’s theory of universal.

2+8
P.T.O.
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